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ENGLISH
Time: 3 Hours Max. Marks: 100
UNIT - I (PROSE)
I. Answer the following in a Word/Phrase/Sentence each: (5x1=5)

1. How did William Harvey see the heart as a pump?
Whe:re do the Franks stay while they are in hiding?
The time period of Indus civilization was divided into the early harappan,
, and late Harappan stages.
What was the newspaper circulated by Jalaluddin?
5. How much would Kalam earn after selling the tamarind seeds?

II. Answer any FIVE of the following in about 200 words each: (5x5=25)
1. Distinguish between Linear and Lateral thinking.

2. What preparations did Anne Frank’s family and friends do before going into

hiding?

3. How extensive was the Indus civilization? Discuss with specific references to
geographical locations.

How did Samsuddin influence Kalam and his thinking?
What does Kalam’s father say about prayer and spirituality?
Write a note on the elements that hinder problem solving.

N o wu s

Write a note on civic planning and organization of Indus civilization.

UNIT - II (POETRY)
III. Annotate any TWO of the following in about 80 words each: (2x5=10)

1. I do not envy your hat, your shoe
Why should you envy me my small estate
2. “And lately from somewhere
In the North, a nephew with stripes
On his shoulder was called
An incident on the border
And brought back in plane
And train and military truck”
3. “Friend-there’s yogurt on the last course of rice
Today the arrangement on your plate was not properly ordered
Are you going to tell me what mistakes I made?

Are you going to tell me my mistakes?”
Contd...2
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IV. Answer any THREE of the following in about 120 words each:
| (3x5=15)
Write a note on the conflict presented in “The Justice of peace”.
Describe the ancestral house as a metaphor of Indian culture.
What are the restrictions placed upon the girl by her mother?
How significant is the title of the poem “Bosom Friend"?

R e

UNIT - III (SHORT - STORY)
Answer any THREE of the following in about 120 words each:
(3x5=15)

s

What is the climax of the story “After Twenty Years"?
Discuss the promiinent themes in the story “After Twenty Years”.
Write a note on the Father in the story "My Beloved Charioteer”.

How is the theme of Male oppression brought in the short story "My Beloved
Charioteer”?

o . b o=

Unit IV (Grammar and Vocabulary)
blanks with the appropriate antonyms given in brackets:
(3x1=3)
Man did not create Nature, therefore he does not have a right to it.
I packed my Vital belongings and discarded the ones,
Hehada__  te every problem

(expect, destroy, parm, despair, strength, use less, solution)

VI. Fillin the:

VIL. Fill in the blanks with appropriate synonyms given in brackets:

(3x1=3)
He found it hard to comprehend.

The Citadel was high above the ground.

The boy looked feeble after suffering from a bout of Malaria.
(fortress, understand, sick, digest, weak)

VIII. Select appropriate words to replace the phrase underlined in the

following sente:nces: (4x1=4)

The Gobi desert is a result of extreme dryness.
The author of the book is of unknown name.

They planned to open the shop near an area containing houses.
He acted on his own free will,

Awon o

(ghost, voluntarily, dessication, anonymous, building, residential, heat)

Contd...3
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IX. Fill in the blanks with appropriate tense forms of verbs: (10x'2=5)

1. Velan was too old. His hut (be) leaky and he (has) no
energy to put up a new thatch. So he (shift) his residence to the
front of the house. It was a deep verandah that (run) on three
sides. When the mood seized him he (open) the house and had
the floor (sweep) and scrubbed. But gradually he {give)
up this practice. Years and vyears (pass) without any change. It

(come) to be known as “Ghost house” and people avoided it. Velan
(find) nothing to grumble in this state of affairs.

X. Choose the right form of verbs given in brackets: (5x1=5)
1. Tobacco and alcohol (is, are) injurious to health.
2. One of my friends (have, has) gone to Zambia.
3. He (like, likes) drinking coffee.
4. Neither Afzal nor you (has, have) been selected.
5. Each of the boys (was, were) given a fountain pen.
XI. Fill in the blanks with appropriate prepositions: (2x1=2)

1. Thatis what I was searching
2. There is no sugar the pot.

XII. Fill in the blanks with appropriate articles: (2x1=2)

1. He reads Bible everyday.
2. This is historic occasion.

XIII. Read the following passage and answer the questions set on it.

A European study revealed that 100% juices of fruit and vegetables are as
effective as their whole fruit or vegetable counter parts in reducing risk
factors related to certain diseases.

The conclusion is the result of a study designed to question traditional
thinking that 100% juices play less significant role in reducing risk of both
cancer and cardio-vascular diseases.

Juices are comparable in their ability to reduce risk vis-3-vis their whole fruit
or vegetable counter parts. According to several researches in the united
kingdom. The researchers analysed a variety of studies and that looked at
risk reduction attributed to the effects of both fibre and anti-oxidants. As a
result, they determined that the positive impact fruits and vegetables offered
come nat from just the fibre but also from the whole fruit and vegetables,

The researchers added that the positioning of fruit juices as being
nutritionally Inferior to whole fruits and vegetables in relationship to chronic
disease development is “unjustified” and that the policies which suggest
otherwise about fru't and vegetables juices, should be re-examined.,

1. Give a sultable title to the passage (1)

2. A systematic study of a subjectis (1)
(choose a right word from the passage)

3. What are the advantages of drinking fruit and vegetable juices? (2)

4. What was the outcome. of the UK researcher's studies? (2)

LRSS RS R AR R RN
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‘Time: 3 hrs. Max Marks: 100
UNIT -I
(Short Story)
I Answer the following questions in about 150 to 200 words each:
(2x5=10)

1. Sketch the character of Sayeda and her brother Eklas in the story
“Shahjahan and His Private Army"
2. Define magic realism and explain the short story “The Birds of the God” as
an apt example of the genre.
UNIT - II
(Poetry)
II Answer the following: (1x5=5)
1. 1In “Anthem for Doomed Youth” the term “passing bills” means:
a) Bells attached to fast tanks
b) Funeral bells
c) Bells rung for weddings
2. Who is the speaker in the poem “If” and to whom is he or she speaking?
a) Husband is speaking to his wife
b) Father is speaking to his son
c) Poet is speaking to nature
d) Son is speaking to his father
3. The words, ‘place’ and ‘planning’, residues’ and ‘remain’ used in the poem
“Philosophy” are examples for -------------
a) Simile b) Personification ¢) Alliteration d) Anaphora
The poem “Philosophy” states the superiority of --------- over philosophy.
5. Who will mourn for the dead soldiers in “Anthem for Doomed Youth"
a) Their young wiives
b) Their parents
c) Shells and bugles.

III Answer any THREE of the following in about 100 to 150 words each:

(3x5=15)
1. What images are used in the poem “Anthem for Doomed Youth”
by Wilfredd Owen? Explain.

Contd...2
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2. How does Wilfred Owen contrast traditional funeral ceremonies with death
On the battlefield?
3. How does Nissim Ezekiel philosophise rather simple argument “what cannot
be explained, do not explain” in the poem "Phifosophy”?
- What is meant by ‘Dr, being hated, don't give way to hating,/and yet don't
look too good, nor talk too wise'.
IV Answer any ONE of the following questions in about 250 to 300
words: (1x10=10)
1. Although Wilfred Owen was a soldier he is an anti-war poet. Support your
opinion with reference to the poem “Anthem for Doomed Youth".
2. Attempt a critical analysis of the poern “If".
UNIT - III
(Novel)
V  Answer the following questions: (10x1=10)
1. What is the name of the school Holden is attending at the beginning of his
story?
a) The Whooton School b) Pencey Prep
¢) Don Bosco School d) Elkton Hills
2. Once, back in New York, the first person Holden tries to invite for a drink is
a) A cab driver  b) Faith Cavendish c) Carl Luce  d) Sally Hays
3. The elevator operator at the Edmont offers to get Holden
a) Drugs b) Complimentary Breakfast c¢) A prostitute  d) Movie tickets
4. Who is Jane Gallagher?
a) An old friend of Holden b) Holden'’s girlfriend
c) A prostitute d) None of the above
5. What record is broken?
a) Shirley Temple b) Shirley Beans c) Frank Sinatra
d) Flutwood Hac e) Lady Gaga
6. Which word best explains the tone of Catcher in the Rye?
a) Hopeful b) Cynical c) Joyful d) Hateful
7. What color is Holden’s hat?
a) Orange b) Red c) Blue d) Pink e) Purple
8. Who is Mr. Antolini?
a) A neighbor b) A psychotherapist
c) An English teacher from a school Holden used to attend d) A dog
9. Holden’s favourite word is
a) Superficial b) Booger ¢) Phony d) Whom
10. What did Allie write on his baseball gloves?

a) Bible verses  b) Baseball stats ) Poems  d) The name of girls he liked

Contd...3
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VI Sketch the character of any TWO of the following in about 150 to 200
words each: (2x5=10)
Mr. Antolini
Jane Gallagher
Holden Caulfie'd
VII Explain the context of any TWO quotations in about 150 words to
200 words each: (2x5=10)

1. “sheis a dancer,” I said. “Ballet and all. she used to practice about two
hours every day, right in the middle of the hottest weather and all. She was
worried that it might make her legs lousy - all thick and all. 1 used to play
checkers with her all the time”.

2. You know those ducks in that lagoons right near central park south? That
little lake? By any chance, do you happen to know where they go, the ducks,
when it gets all frozen over?

3. All the kids kept trying to grab for the gold ring and so was old Phoebe, and I
was sort of afraid she’d fall off the goddam horse, but I didn’t say anything
or do anything. The thing with kids is, if they want to grab for the gold ring,
you have to let them do it, and not say anything. If they fall off, they fall
off, but it's bad if you say anything to them

VIII Answer any ONE of the following questions in about 250 to 300
words: (1x10=10)

1. How does 1.D. Salinger bring about the phoniness of the adult world in the
novel "The Catcher in the Rye™?

2. Elaborate on Holden’s understanding of authenticity and artificiality.

UNIT - IV
(Vocabulary and Comprehension)

IX Read the following passage and answer all questions: (1x5=5)
It took three long years for my coming into existence, after the idea of new
currency was conceived. 1 was first conceived and named on 1% January
1999, when eleven European countries decided to have a new money form
i.e Euro. My value was determined as per the conversion rate fixed by these
countries in terms of their own currencies. On 1% January 2002, I was
circulated as currency notes when twelve countries adopted me as their
currency. Some countries opposed the idea of using me and initially refused
to accept me. But now almost all European countries have accepted me as a
valid currency. My broth Dollar who is in America, my brother Lira residing
in Italy and my sister Sterling was quite jealous of me but soon they
accepted my existence and started respecting me. I now enjoy a place of
pride among all the currencies in the world and almost everyone accepts me
freely.

1. When did Euro come into existence?
Contd...4
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2. Euro was accepted without opposition. True/False.

3. Bring out the sibling rivalry in the family of Euro.

4. What Is the present status of Euro?

5. Find a word from the passage which means ‘envious’
X Choose the correct one word to replace the given sentence: (1x5=5)
1. An assembly of listeners

a) Crowd b) Gathering c) Gallery d) Audience
2. The absence of Government
a) Misrule b) Unruly ¢) Anarchy d) Chaos
3. Broadcast report or news
a) Announcement b) Notice c) Publication ~ d) Bulletin
4. A peculiarity of temperament
a) Wierdness b) Eccentricity ¢) Anomaly d) Irregularity
5. Loss of voice
a) Voicelessness  b) Aphonia c) freeze d) Phonology
XI Use any FIVE of the idioms and phrases and frame sentences:
(1x5=5)
1. He has no backbone
2. His better half
3. Bag and baggage
4. To call to the bar
5. To break the back of anything
6. To bite the dust
7. Bee -line
8. To have an axe to grind
XI Put the verb in the correct form of conditional: (1x5=5)
O (bring) you some beer if I had known that you were thirsty.
2. You will miss the train if you -----=-- (not hurry).
e (be) you I would go home immediately.
4, I =-memm-- (send) Jane a postcard if I had known her address.
5. If my wife ------ (have) a dishwasher I would not have to dry up daily.
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| Complétoz lo toxto au futuro simplo. 1x10=10
C'est I'0té ot les vacancos ..........., . (arriver) blentdt. Cotte année, M, Dubois et sa

famille ..o (PSS Or) los vacances au bord de la mer. Sur le chomin, la
famille .............. (passer) par la campagne pour rendre une petite visite a papl ot mamle.

Mais avant do partir, M. Dubols donne quelques consignes a ses enfants Anne, Henry

ot Erc : « Nous................ (ompruntor) une caravane pour y aller, Je .............
(conduire) ot votro more ..., (lire) la carte pour nous orlenter. Anne, tU ...
(prendre) des photos pour falre des souvenirs, Honry ot Erle, vous.................. (faire) la
liste dos Villos QUO NOUS......vvveieins (visiter). Sur la route,

NOUR st (acheter) de petits cadeaux pour mamie et papl. Comme ¢a,

I s (6tre) vraimont surprise par notre petite visite.

Il Lisoz lo toxto ot répondoz nux quostions, : 1x10=10

Madame Fidalgo habite avenue de Ia liberation, au-dessus de la libralrie. Chaque matin
ello se 1ovaeillo & 7h00. A 8100, ello sort do chez elle et tourne a droite. Elle traverse la
ruo du 14juillot ot elle va boire un petit café tubac. Puis, elle va achter du pain et le
journal & la boulangerie. Elle traverse le carrefour en direction de la poste. Elle prend le
rue du 14 juillet jusqu'au suare des marronnlars, Elle s'installe sur un banc et lit son
journal, A 10h00, elle rentre chez olla et & 13100 ello déjeune. Aprés le déjeuner elle
reqgarde les nouvelle & la tétovision, '

0).00 habite Mme Fidalgo?

b).A quello heure elle so reveille?

¢).A quelle houre olle sort do chez elle?
d).Qual avenue elle traverse?

©).0u achote-t-elle lo journal et le pain?
f).00 va-l-clle boire un café?

g).Quelle diroction prend -~ elle apids avolr acheté le journal?
h).0Ou s'inslallo ~t-lle et qu'est-ce gu'elle falt?

i).A quelle heure rentre-t-ello chez elle?

).Qu'est-ce qu'elle foit aprés le déjeuner?

Il Répondez six quoestions aux cholx, 6 X10=60

a).Parlez du systéme du travall en francel

b).Que signifio I'école pour vous?

c).Parlez du chateau de Chambord|

d).Qu'est-ce que c'est une interdit? Quelles sont les Interdits nécéssaires pour blen

fonctionner ln socitté?

Contd....2
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€).0u se déroule festival de Cannes? Développez.
0)-Parlez un(e) scientifique frangais(e)!
8).Présentez un presidents frangaisl

IV Ecrivez un dialogue au cholx. 1x10=10
2).Vous voulez organiser une féte dans votre classe. Vous demandez I'autorisation au

directeur mais il vous donne l'autorisation avec certains interdits.
Ou

b).Vous devez allez d'urgence dans une pharmacie. Vous garez votre voiture sur une
place de stationnement interdit. Un policier arrive...... continuez.

V Ecrivez une lettre. 1x10=10

a).Ecrivez une lettre 3 un(e) ami(e) pour parler de vos deriniers vacances

REkRhhbtth
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I. 66aMD DEEED NI EWIA PEOOONPDY (2x5=10)
1. andre)mm qurRpewon)nla] apnmomls@oamaniom ?
2. nolpamyeafonymanonmerlee asalmlarim) cloamms)enan|s @RW onid @
Mmoo SO GISME ?
AQO AUSETlLIETT BOnY @)EVIENm) ©1SO0)G:@OnEMAT eI ERRNAIO@B|SYMT?
4. odammmecm onfl parlafleleameomilemds ?

5. DLEIBAWINLI FREABIMAITUISRMOSOBIONVINDEH ?
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St Aloysius College (Autonomous)
Mangaluru
B.B.A. Semester I - Degree Examination
October - 2018
FINANCIAL ACCOUNTING -1

Time: 3 hrs. Max Marks: 100
SECTION - A

1. Answer ALL the following questions. (10x1=10)

a) The proprietor is treated as a creditor to the extent of his capital according to

b)

c)

d)

f)

g)

h)

the :
i) Cost concept ii) Business entity concept
iii) Going concern concept ~iv) -All of these

Purchased goods from X for 32,400 but was recorded as 34,200 to the debit of
X. In the rectifying entry, X account will be credited with

i) 34,800 i) 6,600
iii) ¥8,400 iv) None of these
The loss on sale of old furniture is debited to
i} Profit & Loss Account ii) Furniture A/c
iii) Trading A/c iv) Depreciation Afc
The accounting standards are mandatory for:
i) Hospitals i) Charitable organizations
iii) Companies iv) Small enterprises

The number of years an asset is expected to be useful before it wears out is
called its

i) Life expectancy ii) Estimated useful life
iii) Estimated physical iife iv) Projected life.

If the rate of gross profit on sale is 20% and cost of goods sold is ¥1,00,000,
then amount of gross profit will be equal to

i) 20,000 ii) ¥25,000
iii) ¥35,000 iv) %15,000
Identify the non-operating asset among the following:
i) Land ii) Machinery
iii) Building iv) Investment in government
securities

Who is the founder of book keeping?
i) Luca Pacioli ii) Adam Smith
i) Kesal "iv) None of these
Mr. A has sundry debtors of ¥1,00,000, creating a provision for bad debts
@2% on sundry debtors is in accordance with the principle of:

i) Conservatism if) Materiality
iii) Cost iv) Consistency

Contd...2
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I} GAAP stands for -
i) Generally accepted accounting i) Generally accepted accounting
policies provisions
iif) Generally accepted accounting  iv) None of these
principles
5 SECTION - B _
- Answer any TEN of the following questions in two or three (10x2=20)
sentences each.
a)

Give the meaning of the following accounting terms:
i) Investments i) Bank Overdraft

b) What are the objectives of the IFRS?

C) Give the meaning of book-keeping.

d) Distinguish between current asset and fixed asset.
€) Give the meaning of outward invoice.

f) Mention the purpose of preparing a suspense account?
g) Give the meaning of outstanding expenses.

h) What are fictitious assets?

i) Define accounting standards.

j) What is net worth method?

k) State any two reasons for charging depreciation.

I) Mention any two advantages of single entry system.

SECTION-C

Answer any THREE questions in not less than one page (3x5=15)
each.

3. Write a note on IFRS.

4. Following are the accounting transactions relating to Mr. P's business. Use
the accounting equation to show their effect on assets, liabilities and capital of
his business.

1) Commenced business with a capital of ¥50,000.
2) Bought machinery for cash ¥10,000.

3) Purchased goods for cash ¥15,000.

4) Purchased goods from A on credit ¥5,000.

5) Sold goods for cash ¥10,000.

5. From the following balances, prepare a Trail Balance.

4
Premises 3,000
Machinery 850
Bad Debts 140
mturn outwards 130
Cash 20
Discount received 150
Bank overdraft 500
Creditors 2,500
Purchases 5,000
| Capital 3,680
Fixtures L
Sales 5,200
Debtors 3,000
weiVEd 130

Contd...3
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6. Prepare the personal account of Mr. D'Souza from the following:

a) Amount due from D'Souza ¥13,000.

b) Sold goods to D'Souza 710,000 subject to 6% trade discount.
c) D'Souza sold a machine to us ¥3,000.

d) Purchased goods from D'Souza %12,000.

e) Returned goods to D'Souza Z800.

f) Received a bill for 7,300 from D’Souza in full settlement.

SECTION - D

AﬂS;ver any THREE questions in not less than two pages (3x15=45)
each,

7. Xavier's books disclosed the following opening balance on 1% January 2018.

Liabilities T Assets i

Sundry Creditors 4,810 | Cash in hand 400

Cash at bank 4,500

Stock 4,500

Furniture 1,500

Sundry debtors 2,510
During the month ending January 2018 the following transactions took place:

Date Particulars 4
2018
Jan 1 Sold goods for cash 1,500
Jan 4 Purchased goods from Abraham 2,000
Jan 5 Paid to Abraham 1,500
Jan 6 Deposited in bank 250
Jan 7 Paid for postage 50
Jan 8 Mr. Luke paid by cheque in full settlement of his 1,950
account

Jan 15 Sold goods on credit to Joseph 1,200
Jan 18 Withdrew from bank 2,000
Jan 20 Cash sales 4,750
Jan 25 Cash purchases 2,575
Jan 27 | Paid salaries 1,200
Jan 31 Paid rent 500

You are required to journalise the above transactions.

8. Rectify the following errors.

a) Sales book under cast ¥50.

bh) Sales book overcast ¥150.

c) Sales returns book under cast %20,
d) Sales returns book overcast ¥15.

e) Purchases book under cast ¥5

f) Purchases book overcast T115

g) Purchases return book under cast 2.
h) Purchases return book over cast ¥17,
i) Bills receivable book overcast %5,

j) Bills payable book under cast ¥35.

k) Bills receivable book under cast 8.
1) Bills payable book overcast ¥32.

Contd...4
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M the given trial balance of M/s Raman and additional information given at

the e o
Marz‘:g’o?re"are trading and profit and loss account for the year ending 31=
;—.____"‘_&Bj"‘_d____e‘a‘ance Sheet as on that date:

— S

\ t
| Credit balances

; Debit balances
e .
| Fumiture

t
|
1
|
|

|
1,00,000

{
\ { 20,000 | Capital st
: g‘;:hases | 1,50,000 | Interest received | 4,000 |
| s 12,00,000 | Sales 3,20,000 |
’ S”axar:es ! 30,000 | Purchase returns | 5,000 |
;‘:ies | 20,000 | Creditors | ;g-;’%%_:
S | 15,000 | GST il
| S2les retums 10,000 | Provision for bad debts | 6,000
Bad debts | 7,000 ; Provision for depreciation 2,@2}
Drwings — | —za00, |
| Printing & Stationery 8,000 1
| Insurance 12,000 !
| Opening Stock | 50,000 ?
| Office expenses 12,000 R
L | 5,58,000 5,58,000 |

Additional information:

1) Depreciate fumiture by 10% on original cost.

2) Create provision for doubtful debts upto 5% on debtors.

3) Insurance 2,000 is prepaid.

4} Provide for outstanding office expenses I8,000.

5) Stock used for private purpose was I6,000.

6) Closing stock in trade was I60,000.

7) Loss of goods by fire during the year was 2,500 (uninsured).

Ram Prakash keeps his books on single entry system. From the following
information provided by him, prepare a Trading and Profit and Loss account
for the year encded 31 December 2017 and Balance Sheet as on that date:

i 31% December | 31¥ December
| 2016 (3) 2017 (3)
| Fumniture 10,000 12,000
"Stock in trade 6,000 2,000
| Sundry debtors 12,000 14,000
1 Prepaid expenses - 400
{ Sundry creditors 4,000 ?
Unpaid expenses 1,200 2,000
Cash 2,200 600
Receipts and payments during the year were as follows:
Receipt from debtors 342,000
i pzid to creditors 20,000
"? ransportetion expenses 34,000
i Drawings 312,000
E‘Eundrv expenses 14,000
E-—F—m_ure purchased 32,000
Contd...5
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Additional information:

There was a considerate amount of cash sales. Credit purchases during
the year amounted to ¥23,000. Provide a provision for doubtful debts to the
extent of 10% on debtors.

SECTION - E

Compulsory: (1x10=10)
Mr. Sachin purchased on 1% January 2016 a machinery for ¥58,000 and spent
2,000 on its erection. On 1¥ July 2016 additional machinery costing 330,000
was purchased. On 1% July 2018, the machinery purchased on 1% January
2016 having become obsolete was auctioned for ¥32,000. On the same date
fresh machinery was purchased at a cost of 250,000.

Depreciation was provided annually on 31 December at the rate of 10%
on reducing balance method.

Show Machinery Account as it would appear at the end of the year from
2016 to 2018.

EEEEEEKREK
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St Aloysius College (Autonomous)
Mangaluru
B.B.A.(CIMA) Semester I - Degree Examination
October 2018
FUNDAMENTALS OF FINANCIAL ACCOUNTING

Time: 3 hrs. Max Marks: 100
SECTION - A
1 Answer the following. {(10x1=10)
a) Which one of the following statements is correct?
a. Assets and Liabilities have credit balance
b. Liabilities and revenues have debit balance
C. Assets and revenues have credit balance
d. Assets and expense have debit balance
b) The Prime cost of goods manufactured is total of
a. all factory costs before adjusting for work in progress
b. all factory costs of goods completed
c. all materials and labour
d. direct factory costs.
€) Which of the following will NOT appear in a corporate entity’s statement of
cash flows? :
a. Interest paid b. Revaluation gain on a building
c. Dividends paid d. Repayment of a loan
d) Which of the following statements explains what is meant by capital-
expenditure
a. Expenditure on non - current assets, including repairs and maintenance
b. Expenditure on any type of asset
c. Expenditure relating to amounts withdrawn from business entity.
d. Expenditure relating to the acquisition or improvement of non current
assets.
e) Which of the following should NOT be credited to the sales ledger control
account? _
a. Sales returns b. Refunds of customer over - payments
c. Contras d. Irrecoverable debts
f) The main aim of financial accounting is to
a. record all transactions in the books of account
b. Provide management with detailed analysis of costs
c. Present the financial results of the entity by means of recognized
statements
e. Calculate profit :
g) An invoice from a supplier of office stationery has been debited to the rent
account. What type of error is this?
a. An error of Communication b. An error of original entry
c. A Compensating error d. An error of Principle.
h) Which two of the following items are not included in a corporate entity

statement of profit or loss.
a. Salaries pald to directors b. Dividend paid to shareholders

c¢. Income tax expense d. Audit fee

Contd.. 2
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i) A business entity buys an item o

1

Page.Ng 2
f machinery for long —term use. Which of the

following is NOT capital expenditure?
a. The purchase price of $ 1,000
b. Delivery fees of $ 125 .
¢. $ 350 spent on training employees to use the machine.
d. $ 500 incurred testing the Machine.

i) A decrease in allowance for receivables would result in

h)

i)

k)

3.a)

b)

a. an Increase in liabilities b. a decrease in working capital
C. a decrease in net profit d. an increase in net profit
SECTION - B

. 10X2=
Answer any TEN questions: ( 20)

Give the meaning of goodwill.
Mention any three uses of ratio analysis.

Write any two differences between Financial accounting and Management
accounting.

What are irrecoverable debts?

List any two objectives of accounting.

What are contingent liabilities?

Classify the following items of expenditure as either capitol or revenue
1. Legal fees incurred on the purchase of land

2. Repainting of a delivery van.
Mention the four users of financial information.

What is a non profit making entity? Give an example.

State any two differences between capital Expenditure and revenue
expenditure.

From the following calculate current ratio;

Cash $ 30,000, Trade Receivables $ 25,000 i Inventories $ 40,000,
Receivables $ 30,000, Payables $15,000, Trade Payables $ 5000,
Bank O.D $ 10,000, other current liabilities $ 10,000

What is a suspense account?

SECTION - C
Answer any THREE of the following: (3x5=15)

KMO purchased a new pulping machine at a purchase price of $ 150,000. The
installation costs were $ 10,000 and the employees received specific training
on how to use this particular machine at a cost of $ 5000. Before the pulping
machine was used in normal operations. It was subject to a compulsory
safety test at cost of $ 3000. The machine was expected to have an eight -
year estimated useful life, with an estimated residual value of $ 8,000.
Required:

a) What was the cost of the pulping machine capitalized in the statement
of financial position?

b) What was the annual depreciation charge associated with the pulping
machine? (3)

A non- current asset was disposed of for $ 2,200. It had been purchased
exactly 3 years previously for $ 5,000 and had an expected residual value of
$ 500. The non-current asset had been depreciated using the reducing
balance basis, at 20 percent per anum. (2)
Required:

What was the profit or loss on disposal?

Contd..3

Scanned with CamScanner



ST * "OLLEGE LIBBARY |3
M. .. .LORE-575003

G 401.1a Page.No 3

4.a) A business entity has the followihg manufacturing costs for the year ended

b)

31 March 2018.

$
Prime Cost 56,000
Factory over heads 4500
Opening work in progress 6200

Factory cost of goods completed 57000
Required: (2)
What was the value of work in progress as at 31March 2018?

A Business entity applied a 30% mark-up on goods sold during the year
ended 30 September 2016. For that year, it had sales revenue of $169,000.
The inventory valuation was $ 15,000 at 1 October 2015 and $ 12,000 at 30
September 2016.

Required: (3)
What was the cost of purchases for the year ended 30 September 20167

J Jones commenced business on 31 January 2011, transferring $ 5,000 from
her personal bank account with a business bank account. During the first
week February 2011 the following transactions occurred.

1 Feb brought a motor van costing $ 800 paying by cheque.
2 Feb brought goods on credit P Smith $ 400
E Holmes $ 250

3 Feb Sold goods for cash $ 600 (cost $400)
4 Feb Banked cash $ 600

Paid P smith $ 400 by cheque.
5 Feb sold goods on credit (cost $200)

J Amos $200 '

A tumer $ 300
Required :
Show the accounting equation at the end of each days transaction.

A business entity entered into a number of transactions which had not been
properly recorded as follows.

1. A cash sale of $ 100 was not recorded.

2. Rates expense of $500, paid in cash has been debited to the rent
account in error.

3. A non- current asset purchase of $ 1,000 on credit has been debited to
the repair expense account rather than an asset account.

4, A rent bill of $1,200 paid in cash has been debited to the rent account
as $ 1,400 and a casting error on the sales account has resulted in
sales being overstated by $ 200.

5. A cash sale of $ 76 has been recorded as $ 67.

State the journal entries required to correct each error,
Contd..4
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SECTION-D X15=45

i i bank a
Answer any THREE of the following . 5 500 in the i
7. On 1 January, P Roberts started a busines®

f UrrEd: .
$ 500 cash the following transaction oc:-]:it for $ 700 from J Martin.
2Jan He bought raw materials on Crz-it to G Goddard

3Jan He sold goods for $ 300 on cré mon on credit.
7Jan  He sold goods for $1,100 for : L; paying by cheque:
12 Jan He bought equipment for $ 3,000,
18 Jan He paid wages of $ 50 by Chequeb aying by cheque.
20 Jan He bought raw materials for 350, Tﬂmse{f-

He took $ 80 from the cash boX for
28 Jan He paid J Martin $ 250 by cheque- from his cash box.
30 Jan He transferred $ 200 cash into b?nk 4 prepare the Bank account
Required: Journalise the above transaction and P

and cash account. dgers of JKL at 3
8 The following trial balance has been extracted from the ledg s
March 2013.
$ 0
Sales(all on credit) el
Inventory(1 April 2012) 15,400 41936
Trade receivables and payables 82851
Purchases( all on credit) 321874
Carriage in 13256
Carriage out 32460
Electricity 6994
Local business tax 8940
Wages and salaries 138,292
Postages and stationery - 6984
Rent 14,600
Sale tax control 16382
Employees income tax control 4736
Motor vehicle
At cost 49400
Cumulative depreciation 21240
Bank deposit account 90,000
Bank current account 77240
Ordinary shares of $ 1 each 50,000
Retained earnings 76597

858,291 858,291

The following notes are also relevant :
i) Inventory at 31 March 2013 was valued at a cost of $ 19,473.
ii) Prepaid rent amounted to $ 2,800.
iii) Accrued are estimated as follows
Electricity $ 946 Wages and Salaries - § 2464

iv) Depreciation on motor vehicles is tob
: - e ca
anum using the reducing- balance mett':glcjilated 8¢ 25 percent per

v) Accrued interest on the bank deposi

the year :000 is to be made on the profits of
Required:
a) Prepare JKL’s statement of
2013, o1 Profit or loss for the Year ended 31 March
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9.a) Mr. Jaswinder knows that his recéivables at 1 January 2011 was $ 27,000 and
during the year he received $ 140,000 in cheques from customers after
allowing $ 2,000 in cash discount for prompt payment. He wrote off an
irrecoverable debt of $ 5,000 during the year and his closing receivables at
31 December 2011 amount to $ 24,500. In addition Mr. Jaswinder agreed
with some customers, who were also suppliers, that he would contra $ 500 of
the amounts they owed him them with their payable balances.

Required: (5)
Calculate the value of Mr., Jaswinder’s sales for the year ended 31 December
2011.

b) MLO had inventory on 1 January 2011 consisting of 400 articles

brought at $1 each. It purchases during the month of January
consisted of 800 articles at $ 4.20 each purchased on 8 January and (10)
2000 articles at $ 3.80 each on 18 January. MLO sold 2400 articles at
$ 5.00 each on 28 January. Forty of those sold were returned in
perfect condition on 31 January,
MLO values inventory at cost, using the FIFO method.
Ascertain by means of an Inventory account
- The number of articles held in inventory on 31 January 2011.
- The unit cost and total cost of the inventory.
10. Explain accounting concepts and conventions.

SECTION E
Answer the following (Compulsory) (1x10=10)

11. Xyz is a manufacturer of coniponents and the following is an extract of
balances from accounting records of the business entity at 31 December

2014,
$
Inventory at 1 January 2014
Raw materials 11,000
Work in progress 16000
Finished goods 20,090
Inventory at 31 December 2014
Raw materials 17,000
Work in progress 18,000
Finished goods 18040
Wages
Direct Manufacturing 203,080
Factory supervision 13,325
Direct factory fuel and power 91,000
Factory heat and light 4,500
Royalty Payable 4,000
Factory Rent 3,000
Purchase of raw materials 256,000
Return inwards 420
Administrative expenses 14,500
Selling and distribution costs 25,286
Sales 800,290
Required

a) Prepare the manufacturin
December 2014,

b) Prepare the statement of
December 2014.

g account of xyz for the year ended 31

profit or loss of xyz for the year ended 31

3K 3k ok ok ok ok %
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e)

g)

h)
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St Aloysius College (Autonomous)
Mangaluru
B.B.A. Semester I - Degree Examination
October - 2018

PRINCIPLES OF ECONOMICS

Answer all the following questions

Welfare definition of economics was given by
i) Adam Smith
ii) Alfred Marshall
iii) Lionel Robbins
iv) Samuel son
The goods which satisfy human wants directly
i) Consumer goods
ii) Producers goods
iii) Public goods
iv) Inter mediate goods

In case of perfectly elastic demand, demand curve become
i) Horizontal
i) Vertical
iii} Downward sloping
iv) None of these

The wants satisfying power of goods and services is known as
i) Supply
if) Utility
iii) Demand
iv) None of these
Labour cannot be separated from
i) Labourer
i) Profit
iii) Capital
v) None
Which of the following factor is assumed to be fixed in short —run of law of
variable proportion.

i) Land

ii) Labour

iii) Capital

iv) Entrepreneur

Exceptional demand curve slops:
i. Downward

ii. upward

iii. Horizontal

jv. Vertical

The ratio of percentage change in
the Income of the consumer.

i) Price

ii) Income

iii) Promotional

iv) Elasticity

Scanned with CamScanner
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SECTION - A (10x1=10)

quantity demand to the percentage change in
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10.

11,

The net value of GDP after deducting depreciation from GOP Is
I) Net national product

i) Net domestic product
iil} Gross

iv) Disposable income

Which is the correct with respect of Inflation
i) Rise in price
i) Rise in money supply
1if) Rise in general price index
iv) Rise in price of consumer goods .
SECTION - B 7 (0x2=20)
Answer any TEN of the following questions in two three sentence each.
What is Economics?
What is utility?

What is cardinal measurement of utility?

What is budget line?

What are exceptions to law of demand?

What is Extension of demand?

What is capital?

What is supply?

What is meant by real gross domestic product?
Mention any three causes of inflation?

What is Indifference Map?

What is Indifference curve?

SECTION - C ‘ (3x5=15)
Answer any THREE questions in not less than one pages each:
Examine scarcity definition.
What are the determinants of demand?
Briefly explain the properties of Indifference curve.

What are the characteristics of labour.
SECTION -D (3x15=45)

Answer any THREE questions in not less than one pages each:
Explain the basic problems of an Economy?

Explain the concept of consumer surplus?

Explain the law of variable proportion.

Explain the law of diminishing marginal utility. What are its limitations?

SECTION - E (1x10=10) :',_'
Compulsory question L

Explain the various types of price Elasticity of Demand.

3 3k 3K 3 ok ok 3k Kk
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d)

g)

h)

i)

Max. Marks: 100
SECTION - A (10x1=10)
Answer all the following questions:

The arrangement of data in rows and columns is called:
i) classification
iil) frequency distribution  iv) cumulative frequency distribution
The headings of rows of a table are called:
i) prefatory notes ii) titles iii) stubs
Histogram can be drawn only for

if) tabulation

iv) captions

1) discrete frequency distribution ii) continuous frequency distribution

i) cumulative frequency distribution iv) relative frequency distribution

If arithmetic mean is multiplied to coefficient of variation, then resulting value is
classified as:

1) coefficient of variation ii) coefficient of mean

ili) standard deviation iv) variance

If the arithmetic mean of 20 values is 10, then sum of these 20 values is
i) 10 ii) 20 i) 200 iv) 20/10

How many permutations of the letters of the word ‘APPLE’ are there

i) 600 il) 120 iii) 240  iv) 60

Which of the following is the derivative of y = x2+7?

DL=2x+7 M L=2x W) Z=2 W) PE=1xt+c

Find simple Interest on ¥ 1600 for one year @10% p.a.

i) T160 )T 180 ()T 16 iv) none of these

Find compound interest on ¥ 7,500 @ 4% p.a. for 2 years compounded annually
i)T 610 T 612 iii)T 614 iv)T616

Students divided into different groups according to their intelligence will
generate:

i) numerical data  ii) qualitative data iii) quantitative data iv) none of these

SECTION - B (10x2=20)
Answer any TEN of the following questions in 2 or 3 sentences each:

State the different types of classification of data.

Contd...2
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b. State the different parts of a statistical table.

c. Calculate harmonic mean of the values 9.7, 9.8, 9.5.

e for the following values

d. Calculate Range and co-efficient of rang
X: 16, 18, 18, 16, 18, 20, 17, 19, 16, 24

e. Define ‘Standard Deviation’.
Out of 50 students in a class, what is the probabil

a picnic?

ity of @ single student to opt for

g. Ify=x*then =7

ears be ¥ 4.50?
h. At what rate percent per annum will simple interest on ¥ 25 for ay
i. Define product rule and quotient rule.

j. A sum of ¥ 25,000 is deposited in a ba

nk @ 12% compound interest. what would
be the amount after 5 years? -
i ey ar
k. In how many ways 4 boys and 3 girls can be seated in a row s0 tha y are

alternate?
l. Calculate Geometric mean of 3, 5, 6,7,9.
3x5=15
SECTION - C (3x5=15)
Answer any THREE questions:

3. Mean marks scored by the student
55 and the mean marks of the boys is 50. What is

s of a class is 53. The mean marks of girls is

the percentage of girls in the

class?

4. Find the maximum and minimum values of the function 2/ %% + 1/,x%—6x +8.

5. If a sum of T 500 borrowed for 3 years amounts to 7 800 @ compound interest,

find the rate of interest.
6. Differentiate the function with respect to x, 3x%+5x—2.
SECTION -D

Answer any THREE questions:
7. a. Average wages of some firms are given below.

(3x15=45)

Represent this by Bar

diagram.

Firm A B Cc D E F
Average wage (3) | 345 598 | 540 | 305 | 190 | 150

(5)
b. Calculate Quartile deviation and its co-efficient.

Months | Jan | Feb Mar | Ap | May | June | July | Aug | Sept | Oct | Nov Dec
Sales 55 |60 |70 (90|90 |[110 {120 |130|145 | 145|155 170
(in lakhs)

(10)

8. a. IfX 8,000 amounts to ¥ 8,820 in 2 years @ certain rate of compound interest;

find the rate of compound interest. )

b. How many ways can 10 examination papers be arranged so that the best and
the worst papers never come together. )
Contd...3
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c. Mr. Ravi is selected for three separate posts. For the first post, there are
three candidates, for the second, there are five candidates and for the third,

there are 10 candidates. What is the probability that Mr. Ravi would be
selected? (5)

9. a. A person deposits his salary of ¥ 2,500 p.m. into a bank at the beginning of
every month. He withdraws ¥ 1700 p.m. during each month. If simple interest
is given @ 10% p.a. find out the balance standing to his credit at the end of

one year. (5)
b. Find 2 if x* + y® = 3axy. (5)
c. Calculate mean

X: 20 30 40 50 60 70 80

f 5 2 3 10 3 2 5

(5)

10. a. Find simple interest on T 20,000 for one year, three months and 15 days @
24% p.a. (5)

b. A company intends to create a depreciation fund to replace at the end of the

25" year, asset costing ¥ 1,00,000. Calculate the amount to be retained out

of profits every year, if interest rate is 3% p.a. (5)
c. Represent the data by sub-divided bar diagram
Year 1 2 3 4 5
Production 900 1700 2550 4000 4500
(in tones)
(5)
SECTION - E (1x10=10)

Compulsory question:

11. Calculate mean deviation from mean and standard deviation for the following.

Marks 0-20 20-40 40-60 60-80 | 80-100
No. of students 10 16 30 32 12
sk 3K X ok o %k %k ok Xk X
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MANAGERIAL DEVELOPMENT AND COMMUNICATION
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G 404.1

SECTION - A
1. Answer ALL the following questions. (10x1=10)
a) Under mechanism of scientific management, scientific task setting includes

i) Time study ii) Motion study
iif) Method study iv) All of these

b) An identified group of people contributing their efforts towards the attainment
of goals is called

i)  An organization i)
iil) Management iv)
c) When introducing ourselves we shouild use

i)  only our designation i)

iii) only the surname iv)

Business
Department

only our first name

both the first name and
surname

Body

- | S of the letter consists of main message.
i) Heading 1))
iil) Greeting iv)

Closing

e) You have been asked to a business lunch with your boss and other co-

workers. When it comes time to order, you

i} Ask for a alchoholic beverage, it ii)
will calm you

iil) It's on company’s money, who  Iv)

cares! Just do whatever you like

See what others order and
follow suit with something
similar

Take your time to understand
each of the item from the list,
google them and then take your
call.

f) Who was the first to describe fight or flight response

i) Walter B Cannon i)
iii) Atkinson Potter

g)
i) Business letters 1))
iil) Production reports
h) Effective business communication
i} Decrease the number of positive ii)
responses to request on the first
try

Increases the time that it takes
disagreements to surface

iif)

Sigmund Frend

iv) Mrunal Sengupta

The following is the permanent record of business

Ledgers

iv) All the above

Increases reading time

iv) Builds the positive image of the

organization
Contd...2
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a)
b)
c)
d)
e)

g)
h)

j)
k)

10.

11.

C=3 Page No.2
G 404.1

Downward Communication flows from
i)  Top to bottom level
management
i) Subordinate to Superior
The Chronological development of information of the bod
done according to the

iiy Bottom to top level
management

jv) Manager to Manager '
y of the report is

i) Choice of the writer

i 0 i i
) rder in which events occurred e of events

lii) Collection of data iv) Logical sequenc

SECTION - B =

. " ree (10x2=20)
Answer any TEN of the following questions in tWo or th
sentences each.

Define Management.

What is formal organization?

Who is an autocratic leader?

What is the proper way to use the table napkin a
What is Kinesics?

Mention any four qualities of a good report.
What is Semantic barrier?

Write the various sources of stress.

State any four merits of video conferencing.
Differentiate between minutes and reports.
What is time management?

t a formal dinner?

Define controlling.

SECTION - C
Answer any THREE questions in not less than one page (3x5=15)
each.

How SMART goals help in achieving one's goals?

What important points should the chairperson of a meeting keep in mind in
order to run the meeting smoothly and successfully?

Briefly explain the various types of reports.
Write a note on Management by Objectives (MBO).

SECTION - D

Answer any THREE questions in not less than two pages (3x15=45)
each.

Explain the contributions of F.W. Taylor's Scientific Management
Explain the planning process in modern business administration

State the essentials of a good business letter.
different parts of a business letter.,

Elucidate the various barriers to communication

Describe with illustrations the

. SECTION - E
Skill Orientation - Compulsory

Draft the minutes of Board meetin
taken up.

i) Approval of Compulsory Seal.
ii) Allotment of 500 Equity Share
iii) Appointment of Mr, X ag the

(1x10=10)

g at which the following three items were

StoMr. A,

Secretary of Company
Ak e i
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FOUNDATION COURSE IN INDIAN CONST

Time: 3 Hours

PART - A

ITUTION AND VALUE EDUCATION
Max. Marks: 100

e INDIAN CONSTITUTION
. Answer all the following questions in three sentences each.

Each question carries one mark:

W g

procedure.

(1x5=5)

Name the plan under which Constituent Assembly was set up in India.
Which part of Indian Constitution deals with Fundamental Rights?

State the article of Indian Constitution which deals with the amendment

4. Distinguish between Council of Ministers and Cabinet.

5. What is meant by Judicial Review?

1I. Answer any FIVE questions in about a paragraph each. Each question

carries 3 marks:

6. State the sources of Indian Constitution.

(3x5=15)

7. After the death of Sanjay Gandhi, Maneka Gandhi wife of late Sanjay
Gandhi and her mother in law Indira Gandhi then the Prime Minister of India

had a dispute. Maneka Gandhi wante
applied for a passport. A passport was issued to her on

passport Act 1967.

After the passport was issued, the regional passport office,
letter dated 2-7-1977 to Maneka Gandhi,

d to visit foreign countries, and so

1-7-1976 under the

Delhi wrote a

informing her that the Government

of India decided to impound her passport under Section 10 (3) (c) of the
passport Act 1967 in the public interest and asking her to surrender her

passport in their office.
supreme court. Explain this case
Right to freedom (Article 19) (1) (@)

(Article 21).

8. Which of the following is not Included in the 111

India? State reasons.
~a) Righ' to Equality
b) Right to Freedom
c) Right to Vote
d) Right against Exploitation.

9. What is meant by Uniform Civil Code?

Maneka Gandhi filed a writ petition before the
in the light of Right to Equality (Article 14),
19 (1) (9) and Right to Life and Liberty

part of the Constitution of

contd...2
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10, What Is meant by 'Double Jeopardy? - jetalned In the
11, Mr Shaktl was arrested by the police authorities. He Wb ==

st Mr. Shaktl,
custody and the police did not book a charge sheet again

a on., Who can
Describe the remedy avallable to Mr. Shaktl In Indlan Constitut!
tender application for such a remedy?
. Each
DIX. Answer any FIVE questions in about 10 sentences each _—

question carrles 5 marks:
12, Explain the preamble of Indian Constitution and discuss Its

significance.
13, State the classification of Directive Principles of State Policy.

14, State any five fundamental duties of Indlan citizen.

15, Examine the role of speaker In Lok Sabha.

16. State the Legislative power of the President of India.

17. Evaluate the role of Trade Unions as lobbying Institution.

18, Explain SEBI and Competition Commission of Indla.

IV. Answer any ONE question In about 20 sentences each. Each "
question carries 10 marks: (10x1=10)

19, Explain the powers and functions of the Prime Minister of India.
20. Explain Right to Freedom and Right to Equality of Indian cltizen.

V. Answer any QNE question In about 40 sentences each. Each
question carries 15 marks: (15x1=15)

21. Explain the salient features of Indian Constitution.
22, Enumerate organization and functions of Vidhana Sabha.
PART - B
(VALUE EDUCATION)

VI. Answer any FOUR questions in about 8-10 sentences each. Each
question carries FIVE marks: (5x4=20)
23. Trace the Institutional legacy of St Aloysius College.

24. Analyse Joharl Window as a technique of self awareness.
25. Explain the need for right self esteem,

26. What Is splritual quotient? Explain.

27. What Is meant by critical thinking? Explain,

28. Write a note on thought power.

VII. Answer any ONE question in about 20 sentences. The Question
carries 10 marks: {(10x1=10)

29. Explain the importance and elements of Self-discipline.

30. What are life skills? Explain Its importance and components,

LSRR L R SRR S Y
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ENGLISH
Time: 3 Howre Max. Marks: 100
UNIT « I (PROSE)
1. Answer the following In & word/phrase/sentence each: (5x1=5)
1. What happens when the people of a nation are In confusion and distress?
20 Where wan Kalam's house located?
3. Who complalned that ‘wealth sccumulates and men decay’?
4. What 16 the unspeakable wrongness that the author talks of In the story "A
Hanging'?
5. Name the two men Leacock Introduces In the prose 'Self-Made Men',
I1I. Answer any FIVE of the following in about 150 words each: (5x5=25)
1. Tocqueviile states that patriotism 'ls In ltsell a kind of religlon, it does not
reason, but It acts from the Impulse of falth and of sentiment.” Do you agree
or disagree with this statement? Provide reasons.
2. 'The child 1s the father of man’, Elaborate this Idea In the light of Kalam's
growth te adulthood.
3. How docs Shaw use the analogy of dress-making to discuss how capitalism
has restricted people’s skills?
4, What impression of the narrator do you form by the end of the essay ‘A
Hanging'? Why?
5. Comment on the author's opinion of Americans and the kind of patriotism
they display in the essay ‘On Patriotism’.
6. Piety and discipline are the two major features of the life that Kalam’s
parents lived. Explain this Idea with examples.
7. Describe how Leacock Introduces the two men sitting in a restaurant.
UNIT - II (POETRY)
II1. Answer the following in a word/phrase/sentence each: (5x1=5)
1. Inthe poem ‘Night and Death’, who does ‘Our First Parent’ refer to?
2. When the Tiger was created, what did the stars do?
3. ‘Rage, rage agalnst the dying of the light’. What does the underlined phrase
mean?
4. What did men frc;m the hills get with them in the poem ‘A Hot Noon in
Malabar'?
5. Name the poet of the poem 'If".

Contd...2
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IV. Answer any FOUR of the following in about 120 words each:

VII

Vl

A

(4x5=20)
Explain how cosmic pattern is connected to the pattern of human life in the

poem ‘Night and Death’.

What Image of the tiger do we get from the poem ‘The Tyger'?

Analyse the images used in the poem ‘Do Not Go Gentle into That Good
Night'.

Comment briefly on the treatment of time in the poem ‘A Hot Noon in
Malabar’.

Explain the theme of night and death in the poem ‘Night and Death’ and
bring out the connection between the two as depicted by the poet.
Comment on the appropriateness of the title of the poem 'If",

UNIT - III (SHORT - STORY)

Answer any THREE of the following in about 150 words each:
(3x5=15)

Discuss the tone of the story ‘Getting Married’. How does the narrator bring

out this tone?

Why does Paham buy mere and more land? What does this signify?

Do you think Celia and Ronald will make an ideal couple? Justify your

answer.

What is the significance of the argument that the two sisters have in the

story *How Much Land Does a Man Need? How is it related to what happens

later?

The statement from the conclusion to the story ‘Getting Married’, *.... There’s

too much “arranging” and settling” and “fixing” about the thing for me’,

aptly describes the narrator’s attitude to life. Discuss.

UNIT - IV (Grammar and Writing Skills)

Fill in the blanks with the appropriate idioms and phrases from the
ones given in brackets: (6x1=6)
(Bell the cat, turn the clock back, come to a head, left out in the cold,
under a cloud, light at the end of the tunnel, hit the sack, throw a spanner
in the work, cut no ice, jump the gun)

After a heated argument, Matters had ___ when the junior officer threw a

shoe at the manager.
His name is

after his assistant announced that he must have taken a
huge bribe to get the bill passed.

It has been a hard day’s work and you should _____

The convict’s is desperate lies ___ with the judge, who went with the
evidence severely against him.

The prisoner saw no and was convinced he would be hanged.

He couldn’t ____ and bring back the dead.

Contd...3

Scanned with CamScanner



.

G 135.1/335.1/435.1/535.1/635.1 Page No. 3
B. Analyse the following graph. Write a report in about 150 words:
(1x6=6)
Sales of different types of cameras
Other
Advanced

Digital Camera

Full frame Camera
SLR digital———

Camera

Independent
Film maker
Camcorder

ST.ALQYSIUS COLLEGE LIBRARY
MANGALORE-575003

Slim digital Camera

C. Write a dialogue in about 150 words in 5 turns each: (1x6=6)

You want your Principal to permit you to celebrate fresher’s day in your
college. Write a dialogue between you and your Principal.

D. Develop a story based on the hints given below in about 150 words.

(1x6=6)
A sailor took his pet monkey with him, to sea trip terrible storm
overturned ship, a dolphin saved the monkey’s life took monkey to
an Island . Monkey said that he was a prince . Dolphin understood
his lie ___ left monkey alone on the island.

E. Read the following passage and answer the questions. Answer in a
word/phrase/sentence for 1 mark questions and in 2 or 3 sentences
for 2 marks questions. (6)

The culture of nuclear families is in fashion. Parents are often heard
complaining about the difficulties in bringing up children these days. Too much
of freedom in demand, too much independence, overnight parties, excessive
extravagance, splurging pocket money, no time for studies and family, all this
is a common cry of such families. Aren’t parents, themselves, responsible for
this pitiful state? The basic need of a growing youth is the family, love,
attention and bonding along with moral values. One should not forget that
charity begins at home.

Only the reasonable demands need to be fulfilled, as there are too many
expenses to be met and too many social obligations to be taken care of by the
parents. Earlier there never existed the concept of old-age homes. There was
a deep respect for the family elders, and love, care and concern for the
youngsters. Even the minor family differences were solved amicably in the
joint families.

i. Mention any two major common concerns of a nuclear family. (1)
ii. Who, according te the passage, is responsible for them? (1)
iii. Explain the expression ‘Charity begins at home'. (1)
iv. Find out the word in the passage which means The pleasant and friendly
manner in which a difficult situation is dealt with. (1)
v. Describe the atmosphere in joint families. (2)
% 2k Xk ok ok %k oK %k
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5. fvfs 7 g wea € 2
6. goaTaE W & for SeEwr i |
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L. & S &t aftwrr <ot saa et 6 diee gusEe |
2. & i it forest sudr 3ei @ e |kt fefew |
3. | & oW & wrer sEe e St Siee SHEEy |

I 87) U& I o Sw ey - (6x1=6)
1. urg &t gftwmr faf@ )
2. gur ¥ g G@lE ared 9efe |
3. w6 aRvm R |
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5. yzaraE qem it aian e
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SECTION A: Prose
1. Answer the following in a word. (1x5=5)

1. In “The Adventure of the Speckled Band”, Julia Stoner and Helen Stoner were
twin sisters. (True/False).

2. The girl and the boy of " The Human Phonograph”, met in 1961 and the story
begins in when Mr. Armstrong landed on the moon.

The narrator’s mother in “A Waterfall of Horses" worked for

4. The short story collection by Shashi Tharoor called was banned during
the emergency.

5. Pankaj Mishra in his view on refugee crisis comments on how Hungary now

hosts a fascist ideology despite its major role in the in 1989.
II1. Answer any FOUR following questions in about 100 words (4x5=20)
each:

1. Elucidate on the class divide present in “A Waterfall of Horses”.

2. Holmes Is known for his uncanny observation skills. Elucidate with reference to
“The Adventure of the Speckled Band".

3. “Sclentists are privileged exceptions” comment with reference to "The Human
Phonograph”.

What according to Pamuk is important for the development of Europe?

5. How does Tharoor reconcile his faith in India despite living outside India for
most of his adult life?

6. Write a short note on the narrator in "A Waterfall of Horses".

III. Answer any ONE of the following in about 250 words (1x10=10)
each:

1. “Violence does In truth, recoil upon the violent, and schemer falls into the pit
which he digs for another” Comment with reference to * The Adventure of the

Speckled Band”.

2. “She is an object of fascination perhaps one day she too will become as
unremarkable as this gilin”. Comment with respect to “The Human

Phonograph”.
3. How did the people of Pomerang chase away the bilate?
How did Holmes solve the murder mystery of Julia Stoner In “The Adenture of
the Speckled Band"?
SECTION B: Novel

IV. Answer the following in a word. (1x5=5)

1. Hep and Bok have only time to repay the money.
2 gets involved In an arms deal for a militant group where he lost fifty
lakh rupees.

Contd...2
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m who plays in the “The Wedding Plan~,

3; is the bassist from Assa
he second was a girl called

, the Scotland of East.

4, Jayden was Kidor’s first child, t

5. The plot of the novel is setin

V. Answer any ONE of the following in about 250 words (1,(10:10)
each:

1. Elaborate on the elements of Extortion,
the ‘The Girl from Nongrim Hills".

2. Write a short note on ‘Bok’ in the Girl from Nongrim Hills.

3. How s the protagonis't‘of the girl from Nongrim Hills self destructive?

smuggling and arms dealing inclygeg i

SECTION C: Poetry

VI. Answer any TWO of the following in about 100 words (2x5=10)
each:

1. How does Agha Shahid Ali show his immense love fo
reference to “Postcard from Kashmir”.

r his country? Answer wis«
ith

2. What is the reward for the bravery shown by the girls father in “The Orphan
Girl™?

3. Give a brief description of the biblical allusions used in “All Along the
watchtower”.

4. How does Meena Kandaswamy give women the power to militate in Ms.
Militancy?

VII. Annotate any TWO of the following in about 100 words (2x5=10)

each:

1. Kashmir shrinks into my mailbox
My home a neat four by six inches.
I always loved neatness. Now I hold
The half-inch Himalayas in my hand.
2. No tear is so bright as the tear that flows
For erring woman's unpitied woes;
And blest be for ever his honoured name
Who shelters an orphan form sorrow and shame!
3. No reason to get excited
The thief he kindly spoke
There are many were among us
Who feel that life is but a joke
But, uh, but you and I, we've been through that
And this is not our fate
So let us stop talking falsely now
The hour's....
SECTION D: Grammar
VIII. Report writing: (1x5'—'5)
1. The NSS club of St. Mary’s College, Mangalore organized a cleanliness drive &
central market, Mangalore. Write a report in about 200 words on the camp '
your college newsletter. You are John/Josna.

(:c:ntd---3
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IX.

H W N O

L5y

X.

XI.

XII.

Idioms and Phases:

Choose the appropriate idiom/phrase from the list below to

fill in the blanks.

(Pain In the neck, head over heels, round the clock, beat around the bush, dime
a dozen, an arm and a leg, feel under the weather)

The wedding planner fell

I find reading books a real

The prisoners are monitored

escape.

Eqgs are ____

Restaurant Review:

for the family servant Alice.
The manager told his employee not to

Page No. 3 ) 7

(1x5=5)

but to come to the point.

by the officers. There is no way to

after the episode of Bird Flu.

(1x10=10)

Your friend s requesting you to send the restaurant review of the newly opened
place In town to the local newspaper. Write the review in not more than 250

words.

Advertisement :

(1x5=5)

Mangalore Ladies Hostel needs the service of a warden. Draft a classified
advertisement for publication In a local daily asking deserving candidates to
appear for a walk-In-Inteview on 8 and 9 November 2019 from 10 am to 1 pm
al the YMCA Hall, City Arcade, Bejal, Mangalore. Contract No. 9980414234,

ST.ALOYSIUS COLLEGE LIBRARY
MANGALORE-575003

Look at the map of the town centre and answer the following questions.

Glving Directions:

I‘-\\i
oflice

T
shep
Fiowet
whop e |
Library

i e P SR Y

e e~
shop

B
&l

Gﬂ'i‘. (ﬁli

High
. h.fol

13305 #2ig

l Train Station

L Green Strvg_lA

Museum

Bank

“Cake shop |

bookstore

Yellow street

Travel
agent

e S, e e &

Red street
Supermarket

At e c——

19915 an[g

Departnrent
store

Yish
shop

i Home
i

Hospital

go to the hospital to collect the medical report.

LR S

FET T

(1x5=5)

Ctions to Sunil who is at home to go to the bank. On his way he has to
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St Aloysius College (Autonomous)
Mangaluru
B.A./B.Sc. [B.Com./B.B.A/B.C.A Semester I - Degree Examination
October = 2019

FRENCH
Time: 2 hre. Max tMarks: 100
nemine PO ECE LICRARY
4 ez avee Je : ALutoics fllluL LIL':"" 5
A Complitez avee le futur simple 61 'I.,.'!‘b,;uki-ﬁibbbd 2

1. En 2025, les hommes (habiter) sur Mars,

2. En 2020, Pai (parler) toutes Jes langues,

3. En 2023, nous (travailler) deux jours par semaine

4. Bn 2050, Luke Skywalker et Han Solo (passer) Jeurs vacances sur Terre.

5. Deman je (voyager) en voiture solaire,

I, Caompléter avee EN, Y, N'EN PAS (5)

J'ai des Junettes, mais ma fille

Yous Eles chez vous jusgu's B ou jusqu’ a Yh 7 Je suis jusqu’a 9h.

[Lén o une voiture, elle ____conduit souvent,

Maz a de la chance au jeu, Moi, je

WA LN -

Vous allez i "aéroport en bus ou en taxi? Je vais en taxi.

-

Complétez avee le comparatif (5)

-
2

Len cetises et les nectarines (délicicux +)

BY —

Il et son frére gagnent (-)

Sylvie court (-vite) Ronald

Les Marocains et les Indicns boivent du café (=)
Le fanteuil et Ja chaise (+ confortable)

=

L

D. Mettez au passé compose (3)

Pierre Boulez nait le 26 mars 1925. 11 prend des cours de piano 4 7 ans. En 1943, il
ginstalle 4 Paris. Au Conservatoire, il fait la connaissance d’Olivier Messiaen, son
professeur, Pendant 10 ans, il est le « chef de musique » d’une compagnic de théitre. I}
débute sa carriére de compositeur en 1947, 11 regoit de nombreux prix et devient un

conpositeur ¢t un chef d'orchestre trés célébre dans le monde. I meurt le 5 janvier 2016,

IY. Donnez denx phrases comme exemple qui correspondent aux clauses suivantes  (4)

1, Si+ présentt futur simple
2. Si+ présent + impératif

I, Ecrivez Pimpératif des verbes suivants (6)
1. Lue 2. Avoir 3. Savoir
Contd...2
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G. Répondez nux 5 questions en 10 lignes minimum (ST 30)

I. Parlez d'un(e) scientifique.

2. Présentez le Président frangais

3. Que signific I'école pour demain selon vous?

4. Parlez du chiteau de Chambord

5. Déerivez votre vie a Saint Louis (SAC)

6. Expliquez le systéme d’éducatif en France.

7. Parlez de I'économic en France.

H. Eerivez une lettre & un(c) ami(e) pour parler de vos dernicres vacances. (10)

I Vous cherchez un travail comme journaliste dans une entreprise frangaise. Rédige,
un CV avee une lettre de demande d’emploi. (10)

J. Dinlogucez )

Votre ami va passer un examen (ou un cntretien pour trouver du travail). Il n’es¢

pas siir de lui. Vous le rassurez. : (10)
ou

Vous &tes avee un(e) ami(c). Vous entrez dans un magasin pour acheter un

vétement. La vendeuse vous accucille. Vous demandez conseil. Vous choisisscz. Vous

essayez le vétement, cte...

K. Lisez le texte et répondez aux questions (10)
La petite araignée habite dans une toile. Elle a tissé la toile dans un champ. Il y des
tournesols dans le champ. La petite araignée a huit pattes et six yeux. La petite araignée
mange des insecies tells que des mouches et des fourmis. Elle les attrape dans sa toile.
Chagque jour elle tisse une nouvelle toile avec de Ia soie. La soic d’araignée est trés solide.
Savez-vous ce qu'elle fait de sa vielle toile ? Elle a roulé et elle la mange.Toutes les
araignées fabriquent de la soic. Toutes les araignées ne tissent pas de toiles. Quelquefois
les araignées fabriquent des abris pour se cacher. La petite araignée a peur des gens. Elle
ne veut pas faire de mal aux gens. La petite araignée veut simplement vivre tranquille et
manger des bons plats de mouches.

Les questions (4

1. Ou habite-t-clle la petite araignée ?

2. Ou la petite araignée tisse sa toile?

3. Qu’est-ce que la petite araignée mange ?

4, Pourquoi les araignées fabriquent des abris?

i rai ou faux )
Dites Vi "
1. Toutes les araignées tissent des toiles.

2. La petite araignée mange des fourmis,

3. Elle fait de mal aux gens.

4. La petitc araignée a huit pattes.

5. La petite araignée est un animal.

6. Toutes les araignées ne fabriquent pas de Ja soie.

Trouvez dans le texte

1.

)

o

Le svnonyme de a) fort b) paisible.
Les deux noms des insectes ...... |

Scanned with CamScanner



(4

(2019 Batch onwards)

G 151.1 Reg. No:

St Aloysius College (Autonomous)

Mangaluru
B.A./B.Sc./B.Com./B.B.A./B.C.A Semester I - Degree Examination

October - 2019

_ MALAYALAM
Time: 3 Hours Max. Marks: 100

I Geand MCMRO NIOG yowlad DEHONDYY M) (5x2=10)
1. S&iymy m@eom)as (OB @0 &) Bainlni@n] cusruoRljnmsarlam ¢

2. anNMA0AMEAJINEI & {LDEO® AIIMOMBAIR B0y &80
PIUVMBDOND ngsalenm emalS)io agam IM@LNS €2198 som M’

aNmMEOM MG 00)aISIO@IE?
3. cOHWNIMMOIRASES aluo)nilam AfladeanenElnumamam)ae:o6ms ?

4. Alslamn amog) &leanes om @panilm oo glenm)nicleoemy

ST.ALOYSIUS COLLEGE LIBRARY

nGM] AIN@INT HOOEMOHANT ? MANGALORE-575003

5. @ywlmlgsmlenonm o] MaYpSO@EEEINMm ?
II  mosrispomlendo cumdea)e MUV N0 NIJAMRISH)E> (4x5=20)
6.  @miml mem anmess)edelo
AGMAS Semlemd aryem o300
7. M@ mMlnnneioselagimmyen
@RA M @AUM@MARM)EnldonTlu@-
amoodley M a0 e®oude mldewo.

8. ngmlen) aflslyfleanimm) leyeam agsslmnlsmm) 2smond &SI,

) Ie@I?

9.  @rqinilm) 0o oRe@OMM)o EMOCEHNE. LY m) SR \5l

e&hNdo. @ lceiwlean) canleendg)..
10.  adglend aimosm.ageonlelo 8eo ooy 2SO A EEEIOM G210)0?

Contd...2
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1L eemepamm) esme)anoml S0@oam pEHONDFITL (3x10=30)
1. snoewlwd mlom)o rmm&nnm’lcmml @@l &by:umsmﬁn 200 8) 0

BROODOMVoRUsIRE)0 NilUCloa)E

12, anmpeond cvloae @ralelzy 000ny@mme  AflBEa0sn)
13 ‘@7 agam crudqymonmo laadn (IE@ON@DIE o Ind1@d &oemyan

(ICD JSDSHUB a(HDRII0?
14,  coHWUMMODELNS GaEamlm) eSOy Mornio AMITIE0)E
V. eamspamim) aymianomic &0lwoed paim sorulend (2x15=30)

15, anmmoamn@)e cVIM@)AS®]0 (MoRnHEMo GLH0uUs 1M 1929} T

16.  ‘aflvomnilouomaom oyescd’ (alaneleaym oyl crvomynn1e

OO ETBUT NI IBDAOON) D

17. cudnmonsmg)es (e@onnije M0N0 @ealdd AgsaElam

fumMuaqgloles)om)?

V. mldegwem)ounings)mye (5 x2=10)
18. @RIaTUMU AgRADAT EAIANEIMIVANIMe NilNIC1En) S
19. afiwianla cusocue mildsmallen;e
Al9EH0,  0)EasHAT

20, ooQems; ol @lojom)e

1. Ao moglhlesat e20eil 9S8 ABEBI@OId)o.

2. 0O@M NIy MmN
21. adepelw, @A BENSI@ agmmins AlRBRNOEH) S
22. QOB IA3 (IO |80 S

G0R1J0MI, AGS}OD210Se
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St Aloysius College (Autonomous)

Mangaluru
B.B.A. Semester I - Degree Examination
October - 2019
FINANCIAL ACCOUNTING -I

Max. Marks: 100
(10x2=20)

Time: 3 Hours
SECTION - A

1. Answer any TEN of the following questions in 2 or 3 sentences each.

a) Who is a creditor?

b) Expand L.F. Give its meaning.

c) State the meaning of cash system of accounting.

d) Rajath has cash ¥ 5,000, bank balance X 8,000 and machinery ¥ 50,000 and
bills payable 12,000. Find out his capital.

e) Whatisjournal?  gT ALQTSIUS COLLEGE LIBRARE

f) What is net loss? - MANGALORE-575003

g) What are intangible assets?

h) Give the meaning of Journal proper.

i) What do you mean by error of omission?

j) Name any two accounting conventions.

k) What do you mean by cash discount?

1) Why trial balance is prepared?

SECTION - B (5x5=25)

2. Answer any FIVE of the following questions.

a) Explain the different types of accounting errors.
b) Define accounting. Explain the functions of accounting.
c) Classify the following into five kinds of accounts under modern approach.

1) salary Afc 6) Advertisement A/c

2) Purchase A/c 7) Investment A/c

3) Machinery A/c 8) Stationery A/c

4) Stock A/c 9) Commission Received A/c
5) Loose tools A/c 10)Bank A/c

d) From the following information, show the account of Ramesh as it would appear
in the ledger of Mahesh.

2019
May 1 Credit balance b/d ¥ 5,000.
May 5 Bought goods from Ramesh ¥ 1,300.

May 10 Returned goods worth ¥ 320 to Ramesh.

May 12 Sold goods for ¥ 1,500 to Ramesh.

May 15 Received goods returned by Ramesh % 90.

May 20 Received cash ¥ 2,000 from Ramesh.

May 30 Paid Ramesh ¥ 4,560, discount allowed by him ¥ 50.

Contd....2
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e) Rectify the following errors through means of journal entries assuming that

Suspense A/c was opened.
1. The purchase book was under cost by ¥ 200.

2. ¥ 150 paid for interest was posted twice to interest A/c.

3. The discount column on the credit side of the cash book was overcost by %5
4. % 500 paid for repairs to building was wrongly posted to building A/c.
5. purchase of furniture ¥ 1,000 for private use of the proprietor was wrongly

debited to furniture AJc.

f) Enter the following transactions in an analytical petty cash book under the

imprest system.
2019
Jan 1 Received ¥ 500 for petty cash.
Jan 3 Spent for postage ¥ 45.
Jan 6 Taxi hire for secretary ¥ 50.
Jan 8 Paid X and co ¥ 35.
Jan 10 Ink and stationery ¥ 85.
Jan 11 Sent a fax ¥ 10.
Jan 15 Entertainment expenses for visitors ¥ 63.
Jan 20 Paid for carriage ¥ 88.
Jan 26 Tips paid to peon republic day ¥ 55.
Jan 30 Paid telephone bill ¥ 40.-
Jan 31 Paid y and co T 30.

Feb 1 interest amount received from the cashier.

g) Enter the following transactions in the purchase return book for the month of

June 2019.

2.6.2019 Returned goods worth ¥ 2,500 to dev & co M'lore.

15.6.2019 Goods worth ¥ 2,250 to sharma & co Mumbai.

20.6.2019 Allowance claimed from Rahul, Kalyanpur for Shortage ¥ 2,150.

24.6.2019 Retuned goods worth % 275 to Khan & bro, M’lore.

SECTION - C
Answer any THREE of the following questions.
a) Explain the various accounting concepts.

b) Journalise the following transactions in the books of Mr. Sameerarna.

2019

Aug 1 Commenced business with ¥ 10,000.

Aug 2 Purchased goods from x ¥ 2,000 on credit.
Aug 4 Purchased goods from y ¥ 1,000 for cash.
Aug 5 Paid cash to x on account 7 800,

Aug 7 Returned goods to x worth ¥ 100.

Aug 8 Purchased Machinery 2 500,

Aug 10 Received cash from A on account 1,000.
Aug 12 Paid salary ¥ 700 to an accountant.

Aug 13 Paid landlord office rent ¥ 150.

Aug 14 Paid wages ¥ 80.

Aug 18 Paid for stationery ¥ 200,

Aug 20 Received interest on bank deposit ¥ 250,
Aug 22 Received commission ¥ 200.

Aug 28 Withc}raw qas::h from office 2 100 for personal use.
Aug 30 Received dividend on shareg 7 500.

(3x15=45)

¢) What do you mean by double entry system of accounting? Explain its merits and
demerits and state how it is different from single entry system of accounting.

contd.?
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d) Write up a three column cash book of Mr. Jerald from the following particulars
and balance the same at the end of the month.

2019

May 1 Balance in shop cash ¥ 750 in Bank ¥ 1,300.

May 3 Bought goods for cash ¥ 330. Nt E LIBRARY
f ) Uo COLLEGE LISl

May 7 Received from Nair in cash ¥ 290. ST"}'{:EL?‘éAL@aE-575033

May 12 Bought goods on credit from Menon % 720.
May 14 Gave cheque for ¥ 525 to Chandran for goods supplied in April

2017.
May 16 Gave his wife ¥ 150 for household expenses.
May 25 Paid into bank 7 600.
May 26 Gave David a cheque for ¥ 450 in repayment of some liabilities.

May 27 Received ¥ 120 from George and paid into bank.

May 28 Gave charity ¥ 100.

May 29 Gave cheque to Menon for ¥ 710 for goods bought during the
month deducting ¥ 10 for discount.

May 30 Received bearer cheque from Suman % 1,000

May 31 Withdraw ¥ 200 for personal use from bank.

e) The trail balance of murali & co on 31 Dec 2018 did not agree. The difference
was put to a suspense A/c. The following errors were discovered. Pass necessary
rectification entries and prepare a suspense A/c.

1. A cheque of ¥ 750 received for commission had been deposited in the private
bank account of the proprietor.

2. A credit purchase of ¥ 1,510 was recorded in the purchase book as ¥ 150 and
posted to the suppliers account as Z 510.

3. A sales return of ¥ 5,000 was not entered in the books of account.

4. Received ¥ 3,500 from a debtor in full settlement of his account of ¥ 3,550.
¥ 3,500 was entered in the discount column of the cash book whereas % 50
was entered in the cash column.

5. A bill receivable from Arun for ¥ 2,000 was posted to the credit of bills
payable A/c and also credit of Arun’s A/c.

6. Goods worth ¥ 1,000 returned by Renu was entered in the sales book and
posted there from to the credit of Renu’s A/c.

7. A sales return of ¥ 300 by Raja was posted to the debit of his account as
T 3,000.

8. A sale of ¥ 8,500 to Pratham was wrongly posted to the credit of Somu as
¥ 6,800.

f) From the following balances extracted from the books of Mr. Raj. Prepare trading
& P/L A/c and Balance sheet as on 31 December 2018.

Particulars Debit (¥) | Credit (%)
Capital and drawings 10,000 60000
Bank overdraft - 8400
Furniture 5,200 -
Business Premises 40,000 -
Debtors and creditors 36,000 26000
Stock on 01.01.2018 44,000 -
Rent - 2000
Purchases and sales 2,20,000 300000
Returns 4,000 -
Discount 3,200 4000
Taxes and insurance 4,000 -
General expenses 8,000 -
Salaries 18,000 -
Commission 4,400 -
Carriage on purchases 3,600 -
Reserve for doubtful debts - 1000
Bad debts 1,000 -
4,01,400 4,01,400

Contd....4
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Adjustments:
. Stock on hand on 31-12-2018 % 7 by 10%
. 0.
. Depreciate business premises by ¥ 600 and furniture DY

; 0,120.
2
3. Make reserve for doubtful debts at
4
5

5% on debtors.

. Allow Interest on capital at 5%-
. Prepaid insurance ¥ 1,400.

% SECTION -D (1:1°=10)
Prepare trial balance from the following balances for the year ending 31* March
2019, I —

Particulars g particulars __L_
Capital 55530 [Factory fuel 22—
Drawings 6,820 | Office salaries | 3,745 |
Purchases 83,290 | Factory lightin 392
Sales 1,26,177| Carriage inward 897
Debtors 47,800 | Plant & Machinery 55,000
Creditors 22.680 | Furniture 1,720
Purchase return 3.172 | Bills payable 6.422
Sales return 7,422 | Traveling expenses 925
Wages 9,915 | Cash in hand 68
Manufacturing expenses 2,500 | Cash at bank 2,425
Sl 21,725 | Rent & taxes 1,765
Carriage outward 960 | Office expenses 2,778
Insurance 570 | Discount allowed 472

ok ok ok ok ok ok K K
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St Aloysius College (Autonomous)

Mangaluru
B.B.A. (CIMA) Semester I — Degree Examination
October - 2019
FUNDAMENTALS OF FINANCIAL ACCOUNTING
Max Marks: 100

Time: 3 hrs.

SECTION - A
Answer any TEN of the following questions in 2 or 3 (10x2=20)
sentences each: ST.ALOYSIUS CULLEGE LiBRAKX

What are irrecoverable debts? MANGALORE- 575003

Mention the four users of financial information.
L8
What is a non profit making entity? Give an example.

From the following calculate quick ratio.
Cash $50,000, Trade receivables $25,000, Inventory $20,000, Bank $5, 000

Give the meaning of stewardship? Mention any two ethical principles of

stewardship.
Pass the journal entry.

Received irrecoverable debt of $10,000.

What do you mean by Return on Capital Employed (ROCE)?
Give the meaning of Prime Cost.

Distinguish between cash and profit.

State the Accounting Equation.
State any two differences between trade discount and cash discount.

What is Royalty?
SECTION -B
Answer any FIVE of the following questions (5x5=25)
i) LLC had the following assets and liabilities at 1% January.
$
Inventories 350
payables 700
Receivables 400
Bank overdraft 125
Motor vehicles 800
What was the capital account balance at 1% January? (3 Marks)
(2 Marks)

ii) Give the meaning of Goodwill.
You have been presented with the following information relating to an entity.

$
Balance as per cash book 1,245
Unpresented cheques 890
Bank charges not entered in cash book 100
Receipts not yet credited by bank 465
Dishonoured cheque not entered in cash book 170
Balance as per bank statement 1,400
Contd...2

Scanned with CamScanner



Page No,
G 401.1a .
e a statement that shows any necessary

You are required to prepar reconcil
corrections to the cash book balance and a statement that re iles the

bank statement balance with the corrected cash book bala
Give any five distinctions between financial accounting and management

nce.

accounting.
The transactions of a new business entity in its first five days are as follows,

Day 1 | AVO commenced business introducing $1,000 cash.

Day 2 | Bought a motor car for $400 each.
Day 3 | Obtained a $1,000 loan.
Day 4 | Purchased goods for $300 each.

Day 5 | Sold goods for $400 on credit.
quation to illustrate the position of the entity at the

Use the accounting e
end of each days.
A machine cost $9,000. It had an expected useful life of 6
expected residual value of $1,000. It was depreciated at 30% per annum

years and an

using the reducing balance basis.

A full year’s depreciation was charged in the year of purchase, with none in
the year of disposal.

During year 4, it was sold for $3,000. What was the profit or loss on
disposal?

You have been given the following information relating to a business entity
for the month of May 2017.

$

Sales of goods for cash 17,000
Sales of goods on credit 28,000
Purchases of inventory on credit 19,500
Wages paid in cash 2,000
Non-current assets bought on credit 12,000
cash withdrawn by owner 1,600 |-
Inventory of goods: 1% May 5,000

31% May 6,250

Calculate the Profit/Loss for May 2017.

Mr. Banerjee knows that his receivables at 1% April 2017 was $27,000 and
during the year he received $1,40,000 in cheques from customers after
allowing $2,000 in cash discount for prompt payment. He wrote off an
irrecoverable debt of $5,000 during the year and his closing receivable;s at
31% March 2018 amount to $24,500. In addition Mr. Banerjee agreed with

some customers, Who were also suppliers, that he would contra $500 of the
amounts they owed him with their payable balances
Prepare sales ledger control account,

cc’“tdll'3
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On 31% August 2017, the sundry receivables of Hokage stood at $1,000 and
the balance on the allowance for receivables account at that date was $200.
Of the receivables it was considered that $500 were irrecoverable and should
be written off. It was decided that the allowance for receivables should be
$475. '

At 31% August 2018, the receivables balances had fallen to $8,000 of
which $100 were considered to be irrecoverable and should be written off. It
was decided that the allowance for receivables should be $395.

a) Show the irrecoverable debts account at 31 August 2017 and 2018.

b) Show the allowance for receivables account at 31% August 2017 and

2018.
c) Show the relevant figures in the statement of financial position for the
A A S andang, ST.ALOTSIUS COLLEGE LIBRARY

i i ORE-575003
Explain accounting concepts and conventions. MANGAL

TUV is a manufacturing concern that manufactures components and the
following Is an extract of balances from accounting records business entity at
31% December 2014,

$
Inventory at 1% January 2014:
Raw materials 11,000
Work-in-progress 16,000
Finished goods 20,900
Inventory at 31% December 2014:
Raw materials 17,000
Work-in-progress 18,000
Finished goods 18,040
Wages:
Direct manufacturing 2,03,080
Factory supervision 13,325
Direct factory fuel and*power 91,000
Factory heat and light 4,500
Royalty payable 4,000
Factory rent 3,000
Purchase of raw materials 2,56,000
Return inwards 420
Administrative expenses 14,500
Selling and distribution expenses 25,286
Sales i 8,00290
Required: .
a) Prepare the manufacturing account of TUV for the year ended 31
December 2014.

b) Prepare the statement of profit or loss of TUV for the year ended 31
December 2014.

Contd...5
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" cash, the following transactions occurred:

Page
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SECTION - C
Answer any THREE of the following questions in not less (3x15=45)
than two pages each.

On 1% January, Roctlv started a business with $2,500 i

L

n the bank and $500

2 January [ He bought raw materials on credit for,$700 from Aston.

3 January | He sold goods for $300 on credit to Nelson.

7 January | He sold goods for $1,100 for Parker on credit.

12 January | He bought equipment for $3,000, paying by cheque.
18 January | He paid wages of $50 by cheque.

20 January | He bought raw materials for $350, paying by cheque.
28 January | He paid Aston $250 by cheque.

30 January | He transferred $200 cash into bank from his cash box.

Journalise the above transactions and prepare the bank account and cash -

account.
MDH a business entity purchased the following machines.

Machine A | On 3" February 2011 at a cost of $1,000.
Machine B | On 18" March 2012 at a cost of $1,200.
Machine C | On 27" June 2013 at a cost of $2,000.
Each of the machines had an expected residual value of $nil and they are all
depreciated using straight line basis over 10 years, with a full year's
depreciation in the year of purchase and none in the year of disposal.
Machine A was sold for $720 on 30" June 2014. The entity’s accounting
year end is 31% December. Annual depreciation was calculated as follows:
Machine: A $100
B $120
C $200
Write up the ledger accounts to account for the three machines.

PKO commenced business on 1% February 2018, paying $500 into a business
bank account.

During the next month the following transactions took place. All
payments are made by cheque and all receipts are banked.

$
1 February | Bought goods for resale | 150
5 February Paid rent 50
10 February | Sales receipts 290
22 February | Paid for advertising 25
26 February | PKO's drawings 100
22 February Gales receipts 340

T\m the bank account.

b) Write up all the other accounts.

Contd...4
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SECTION - D
4. Answer the following question. (Compulsory) (1X10=10)

SMA commenced business as a decorator on 1% January.

1 January | Commenced business by paying $1,000 into a business bank
account. %

3 January Bought a motor van on credit from AI?G for $3,000.

4 January | Bought decorating tools and equipment on credit from BAP
for $650.
8 January | Bought paint $250, paying by cheque.

10 January | Received $400 cash from a customer for work done.
12 January | Bought paint for $150, paying in cash.

14 January | Issued an invoice to a customer, KOR, for $750 for work
done.
18 January | Returned some of the decorating tools value $80, to BAP.

23 January | Took $50 in the cash to buy a birthday present for wife.
28 January | KOR paid $250 by cheque, towards his bill.

Calculate the balance on each account at 31 January, by.co ing the
. ST ALOYSIVS LULLEUE M 0@&%9“9

following ledger accounts. MANGALORE- 5750

Capital, bank, Motor Van, ABG, Tools and Equipments, BAP, Sales,

Purchases, Cash, KOR and Drawings.
35 %k 3k ok K %k ok K Xk %k
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G 402.1

Reg. No:

St Aloysius College (Autonomous

) .
OLLEGE LIBRARY
Mangaluru ST"}}(EL%“ELC@QE.NSODS

B.B.A. Semester I - Degree Examination
October - 2019
PRINCIPLES OF ECONOMICS

Time: 3 Hours Max. Marks: 100

SECTION - A (10x2=20)

Answer any TEN of the following questions in 2 or 3 sentences each.
a) Define Economics.

b) Write the growth definition of Economics.

c) What do you mean by micro Economics?

d) What is the meaning of time utility?

e) What do you mean by budget line?

f) Define Consumer surplus.

g) What is income elasticity of demand?

h) Write the law of supply.

i) Give the meaning of capital. Mention any two features of capital.
j) What is indifference map?

k) Give the meaning of marginal rate of technical substitution.
1) Give the meaning of total utility.

SECTION - B (5x5=25)
2. Answer any FIVE of the following questions in not less than one page
each.

a) What is human wants? Explain its features and types.
b) What is utility? Explain the types of utility.
c) Explain the shifts in the budget line.

d) Define demand and write its determinants.
e) What is labour? Explain the features of labour.
f) Write a note on Isoquant curve.

g) Write a note on Economics of scale.

3. Answer any THREE of the following questions is not less than two pages
each. ‘
a) Explain the nature of Economics.

b) What is indifference curve? Explain the properties of indifference curve.
¢) What is Price elasticity of demand? Explain its types.
d) What is demand forecasting? Explain the methods of demand forecasting?
e) Explain the production possibility curve with economic growth.
f) Explain the law of variable proportion.
SECTION - D (1x10=10)

Case study: : : e
Explain the law of diminishing of marginal utility.

¢ 3 ok K K K K K K
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Time: 3 Hours

L
a)
b)
c)
d)
e)
f)
a)

h)
i)
i)

k)

a)

b)

c)

(2019 Batceh onwards)

ottt | e T i
St Aloysius College (Autonomous)
Mangaluru

er I -~ Degree Examination

October - 2019
BUSINESS STATISTICS AND MATHEMATICS - I

Max. Marks: 100
CTION

SE -A (10)(2:20)
Answer any TEN of the following questions in 2 or 3 sentences each,
Define classification with an example,

_ ‘ ) ) (YSI08 COLLEGE LIBRARY
State any two merits of tabulation, ST“&,{QN(;,ALO!E-S 75003
Give any two demerits of diagrams,

Find the G.M of 1,4 and 16.

Define harmonic mean.

Define event with an example,

Give the axiomatic definition of probability.
Define standard normal variate,

Find the first derivative with respect to x

i) y=1+log X i) y=12x2+3
What is sinking fund.

Find present value of 21000 due 5 years hence from now at 12%
interest.

p.a simple

SECTION - B (5x5=25)
Answer any FIVE of the following questions in not less than one
each.

page

The office records of a factory say “In 2010 these were 800 workers. Of these,
only 40 were women 20 women and 250 men were drawing a daily wage of ¥70/
or more by the year 2013 the no of workers increased by 25% and the strength
of women doubled. 50% of the workers including 40 women were drawing a daily
wage ofR 70/ or more. In the year 2016 the total strength was 1200 of which
20% were women. Only 40 men and 60 women drew less than ¥70/- wage”.
Tabulate the data.

The population of a city increased at the rates 19% and 8% in 2 successive
years. In the next two successive years, it decreased at the rates 6% and 3%.
Find the average rate of growth.

In a collection of nuts and bolts, the mean weight of nuts is 5gms and the mean
weight of bolts is 9 gms. If the combined mean is 6 gms, find the proportion of

nuts in the collection.

Contd...2
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d)
e)
f)

g)

a)

b)

d)

f)

Page No, 3

G 403.1 ification.
. , class
Define classification and explain various types of
WIReTRACIBEAY o [ g (0L 5 - 28 — 5x. The total cost of

The demand function for a particular commodity is ¥

e maximum
y is C=x"+4x. Determine th

producing and marketing the commodit

profit, .
0 ound interest p_-
Every month a person deposits 250 in his RD Account. At 6% comp p.a,

2
what would be the amount at the end of the fourth year:
SECTION - C (3x15=45)
: ; o page

Answer any THREE of the following questions in not less than two pages
each. : f a factory.
The following table gives the data regarding production of papers o Fy
Draw a component bar diagram.

Variety Production (tons)

2010 2014 2018

Printing 75 80 108

Wrapping 20 25 30

Boards 10 7 7

Special varieties 20 29 33

For the following distribution of the profit range of several companies. Draw a

Histogram and locate the mode.

Profit range 15-29 30-44 45-49 50-64 65-84 | 85-104 | 105-119
(Rupees)
No of 10 18 35 20 15 4 3 !
companies |

Calculate QD and coefficient of QD from the following data:
Wages (rupees) | Less than | Less than Less Less than | Less than 600
200 300 than 400 500
No of employees 10 30 50 55 60
(i) If a sum amounts to Y6800 in 3 years and 78000 in 5 years. Find the (71-)
sum and rate of simple interest,
(i) Marks scored by students in a certain examination follows Normal (7V2)

distribution with mean 60 and standard deviation 5. What is the
probability that a randomly selected students’ scores

i) less than 70 marks ii) between 65 and 75 marks
iii) more than 66 marks

(i) A sum triples in 10 years if the interest is compounded ha
nominal and effective rate of interest,

If yearly. Find (10)

(i) A man travels in a car at a speed of S0km/hr for 8ok
185kms and 70km/hr for 130 kms, Fing his average

entire journey.

ms, 65km/hr for  (5)
Speed during his

Contd....3
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f) (i) Afirm pays 15% CI p.a on deposits made for one year and one day  (5)

interst being compounded quarterly. What will be the amount if
¥12000 is deposited?

(ii) A sum invested doubles in years. What is the rate of compound (5)
interest per annum.
(i) Find the maxima and minima for the following f(x)=x>-2x%-4x+1. (5)

- ALOYSIUS COLLEGE LIBRAR g
SEGimaN =B MANGALORE-575003 {1“0 10)
Case study:

4. The following are the distributions of lives of electric bulbs manufactures by two
firms. Compare their means and variations.

Life (hours) | 800-899 900-999 | 1000-1099 | 1100-1199 | 1200-1299
No of bulbs 8 21 14 4 3
(firm A)
No of bulbs 16 24 40 16 4
(firm B)
% K KKk
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Reg. No:

St Aloysius College (Autonomous)
Mangaluru

er I - Degree Examination

October - 2019

B.B.A. Semest

MANAGERIAL DEVELOPMENT AND COMMUNICATION

Time: 3 Hours Max. Marks: 100
SECTION - A (10x2=20)

Answer any TEN of the following questions in 2 or 3 sentences each:

a) Define management. ST.ALOTSIUS COLLEGE LIRRARE
b) What is Management by Objectives (MBO)? MANGALORE-575083

c) Give the meaning of planning premises.
d) What is divisional planning?
e) Define organizing.

What is leadership? Name any two business leaders of India.
g) Write the meaning of PERT.

h) Bring out any two objectives of business communication.
i) Whatis a report?
j) State any four operational functions of management.,

k) Mention any four qualities required for a successful manager.
) Define coordination.

SECTION - B (5x5=25)

Answer any FIVE of the following questions in not less than one page
each:

a) Bring out any five advantages of management.
b) List out the features of planning.

c) Write any five benefits of adopting Management by Objectives in today’s business
organizations.

d} Explain the process of controlling.

e) Write a short note on leadership styles.

f) Explain any five qualities required for a good report.

g) Distinguish between operational planning and strategic planning.

SECTION - C (3x15=45)

3. Answer any THREE of the following questions in not less than two pages
each: - :
a) Enumerate the fourteen principles of Henry Fayol’s administrative management

theory.
b) Explain the overview of functional areas of management.
c) Elucidate the different types of organizational structure with suitable diagrams.
d) Explain the various control techniques.

Contd...2
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e) What Is communication? Examine the barriers to communication.

f) Write a detailed note on modern means of communication.

SECTION - D (1x10=10)
4. Case Study:
Mr. Anil, a cricket team coach has set the target and made an approach for
achieving predetermined objectives for the team’s practice session. He told his
Players that they have to work towards achieving team goal. These goals set
target which need to be achieved and against which actual performance will be
measured,
In the above case, Mr. Anil has performed one of the functions of management.
Questions:
a) Identify one of the functions of management performed by Mr. Anil.
b) The importance of that function of management is highlighted in the above

case. Identify and explain.
% 3k %k 3% 3 % % Xk K kK
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St Aloysius College (Autonomous)

ST.ALOTSIUS COLLEGE LISRAKY
Mangaluru MANGALOKE-575003

B.B.A. Semester I - Degree Examination
October - 2019
MARKETING MANAGEMENT

G 405.1

Time: 3 Hours
Max. Marks: 100

SECTION - A (10x2=20)

1. Answer any TEN of the following questions in 2 or 3 sentences each.
a) What is market positioning?

b) Write the meaning of branding.
c) What is selling concept?
d) Define Consumer behaviour.,
e) What is warehousing?
f) What do you mean by mobile marketing?
g) What s labeling?
h) What do you mean by pricing?
i) What Is buying motive?
j} What is a blog?
k) What do you mean by packaging?
I) What is media marketing?
SECTION -B (5x5=25)
2. Answer any FIVE of the following questions in not less than one page
each.
a) Explain BCG model.
b) What are the benefits of market segmentation?
¢) What are the objectives of product line?
d) Explain psycho analytical model of consumer behaviour.
e) What are the factors affecting pricing decisions?
f) Explain societal concept of marketing and features.

g) Write the objectives of pricing.

SECTION - C (3x15=45)

3. Answer any THREE of the following questions in not less than two pages

each. . . ,
a) Evaluate various factors influencing consumer behaviour,

b) Elucidate various methods of pricing.
¢) Evaluate target marketing strategies.
d) Explain various elements of marketing mix.

Contd....2
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G 405.1
e) Analyse the stages in new product development.
f) Explain stages in consumer buying decision process: sy
SECTION - D
4. Case study: .
A leading cycle manufacturing company in Nort
Ltd) has so far concentrated on the domestic NO
liberalization policy of the government has thrown opén ne\:v oo
India bicycle industry to play its role both In the south- Indian and inte iona|

markets,

h India (Descent cycle Industrieg

rth India Market. The
vistas to enable the

ndustries limited has acquired long experience

The descent cycle i
s of cycles such

i e
and sophisticated technology in the manufacture of drfferent‘ typ e
as sport cycle, mountain terrain cycle, tiny tot tricycle and bicycle etc. It feels

confident that its cycle will be acceptable in South Indian and in foreign entered

these markets.

Questions:
a. What marketing opportunities are available to the firm in this situation?

b. Whether a single marketing strategy is suitable for all these markets? Why?

sk ok ok ok ok ok 3 3 %k %k
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St Aloysius College (Autonomous)
Mangaluru
B.Com/B.B.A- Semester I - Degree Examination
October- 2019

FOUNDATION COURSE IN INDIAN CONSTITUTION AND VALUE EDUCATION

Time: 2 Hours Max. Marks: 50
ST.ALOTSIUS CULLEGE LisnaR} PART-A
NGCGAL®KE-5750(
e KE-375003 INDIAN CONSTITUTION

I. Answer the following in one sentence each. (1x5=5)

1. What do you mean by constitution?

2. When was the Constituent Assembly established?

3. Who was the chairman of the drafting committee of constituent Assembly?

4. Which Article of Indian constitution enumerates Directive Principles of State
Policy?

5. What do you mean by Preamble?

II. Answer any ONE of the following in 8-10 sentences each . (5x1=5)

6. Write a note on Right to Equality.

7. During a Riot, Ram was detained by the police authorities under a Preventive
Detention law of the state, on the ground as a ‘dangerous person’ within the
ambit of law. He was harashed by the police authorities in custody and the
family members of the Ram were kept in dark about the condition of Ram and
further he was not produced before the court within the time stipulated by law
and police never booked a charge sheet against the accused.

a) Explain how you can help Ram.
b) What remedy is available in the Indian constitution to Ram’s family
members?
¢) Do you think person arrested under preventive detention can claim this
writ?
III. Answer any ONE of the following in 15-20 sentences each. (10x1=10)
8. Examine the functions of Prime Minister in India.
9. Write a note on Speaker of Lok Sabha.
IV. Answer any ONE of the following in 30-35 sentences each. (15x1=15)
10. Explain composition and powers of Supreme Court of India.
11. Write a note on SEBI and TRAL
PART -B
VALUE EDUCATION

I. Answer any ONE of the following in notless than a page. (5x1=5)
12. Explain the vision and mission of St Aloysius College.
13. Write a note on thought power.

II. Answer any ONE of the following in not less than two pages. (10x1=10)
15. Explain SWOC Analysis.
16. “Good decision making is an essential skill for success in general and an

effective leadership skill in particular”- Explain.
o ok 3k ok 3 3k ok ok ok %
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